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Ecen 1. Tenneyni KaHOHIBIK TYpre KeATIpiM sKajbl MEMIMIH Tan

3.1. 3.2
53 30, +4U, +U, =0 24 Us
25 160, +16U, +3U,, =0 a6
27 25U, + 20U, +30,, =0 28 Us
50 120, +8U, +U, =0 210
211 64U, +32U, 30, =0 1
3,13, Un +3U, +26, =0 3.14.
215 U +12U, +270,, =0 216
217 U+ 20U, +750, =0 18

2 10, Un + 28U, 414707, =0 290
297 U +36U, + 2430, =0 299
293 30, + 32U, +64U, =0 2on
305 48U, +16U, + T, =0 226

5 7 1080, +24U, + U, =0 208

3 99 19207, +32U, + U, =0 230
2ap 2U, +5U,~ 30, =0

AU +8U, +3U, =0

3U, +8U, +4U, =0

+4U +30 =0

30U, +16U, +16U, =0

+8U +12U, =0

49U, +28U, +3U, =0
30, + 20U + 25U, =0
2U, +3U +U, =0

U, +16U, + 48U, =0
U, +24U +108U, =0
U, +32U, +192U =0
30, + 28U, +49U =0
27U, +12U, + U, =0
7SU, +20U +U,, =0
147U, + 28U +U,, =0

AU +3U, -U, =0

Ecen 2. U‘x:o = (D(y)’ UX‘X:O =y (y) apTTapblH KaHaraTTaHAblpaThlH Kommu

eceOiH mbIFap

1
1)uxx_zu =0

yy
4u —-9u =0
Nu, Y=o
25 7"

10)u, —36u, =0

2)u —4u =0

5) uxx—lu =0
16 ”

8)u,—25u =0

1)U, -y =
49"

3 u —lu =0
9
6)u —16u =0
9)uxx—1u =0
36 7
0 12)u, —49u =0



13) uxx—lu =0
64 "

16) u, —81u =0
19)uxx—1u =0
121 7

22)u, —144u =0

25) uxx—lu =0
196 ”

14)u —64u =0

17 u, Lo
100 ”

20)u, —121u =0

23)u Lo
169 ”

26)u, —196u, =0

15 u, 1y —o
81"

18) u, —100u, =0

21)uxx—lu =0
144 "~

24)u_—169u =0



